C.I7—0U—F—-XYT75— - MBI RE 880 B 2 B P/C WRAERE

1 3AAA33011 J5- SET GT 1 49,500
2  3CAFO8021 M8  HJyuw- ) 2 30

3 3CAFO8030 M8 17Uy Jyve- ) 2 20

4  3CAFO8110 M8 fyh  S45C o) 2 100

5  3AAE31011  IP-HU-#- 1 5.000

6  3AAE30011  IP7valBifa-y7 vy BK 1 12,000

7  3CAFOB444 M5 x 20 7@ Ik G0N 2 30

8  3CAFO5045 5-8 /) 7wyp- t=0.8 ‘e 2 10

9  3CAFOB130 M6 Utk ¢ 120

10 3CAFOBO85 622 AW t=1.8 (Uc) 3 50

11 3AFO11111 DY RwkTs M 3 100

12 3CAF0B235 ¢ 6-28 My ' 47" 3 50

13 3AFO11131 IV URUNL O 3 150

14  3CAFOBO75 6-24 Tyyr- 1=2.3 (UC) 3 60

16 BAFE21011 %507 Ly wevk (S) 2 750

17  3CAF0B8740 MB X 75 #wv7 i Ik (UC) 3 150

18 3AAD31021 #71-758 1 500

19  3CAF31010 #MU7T ¢ 6 1 80

20 3AAA32011 KIS SET GT 1 9,000

21  3CAFOBOBO 6-16  Tyow- (T hitES) B 100

22  3CAF08365 M6 X 20 #w7 & It (UC) 1 60

18 s 23  3CAFOB530 M6 x 40 # 5k bh (Uc) 2 100
AN 31  3CAFOB380 M6 x25 #pw7 i Ik (UC) 2 60
0o 32  3CAFOB040 M6 HJy- (UC) 4 20
Nl/ 33 3CAFOB130 M6 Utk 2 120
IR 34  3AAE31021 5NN GT 2 1,200
s 35 3AAE32011 75- GT 1 40,000
e 36 3AAE31031 75-7 Fwh GT 1 7.000
i 37 3CAF08412 g x 20 7uat ik 1 (UC) 1 100
7 38  3AAA31011 5N UNTIHS- 2 500
A 40  3AAE21151  IP-#-A97'M 1 150
42 3AAE20081 S/ VR M) 1 500

43 3AA021141  494w7 RICvAY (JX ) 1 100

45  3CAF10110  #vb M10 A MEAS-914h 1 30

46  3AACB1041 #MEMIS- GT 1 1,000

47  3AA021111  SWOFTHW- 1 1,000

48  3AA021121  Sh4w7 BRIV wEy (19) 1 100

49  3AAE20091 S $w7 X3) 1 300

50  3AAE20071 #RESY) 1 4,000
6 7

{




